Ratio

<op/p. > (%)

Ratio

<3 @> (rad)
o
=
(6)]

o
[N

o
N

...........

ST o 1 I

BREE e KT e

-2 -1 0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

...............

...............

w""
N

I
iR

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__PR43146

—— DQM_TT__PR43146_swap

.......

.......

.......

-2 -1 0 1 2 3
TP n (PCA to beamline)

............

.......................

i+ -

- 0 1 2 3
TP n (PCA to beamline)

|

[e2]

o
[T e

2 E R RN EEEEEE

|
w

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


